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685 772 598 412 798
x546 x786 x572 x217 x498
4110 4632 1196 2884 6384
2740 6176 4186 412 7182
3425 5404 2990 824 3192
374010 606792 342056 89404 397404
584 166 783 953 301
x345 x378 x697 x680 x915
2920 1328 5481 0 1505
2336 1162 7047 7624 301
1752 498 4698 5718 2709
201480 62748 545751 648040 275415
534 376 903 867 574
x269 x869 x520 x639 x412
4806 3384 0 7803 1148
3204 2256 1806 2601 574
1068 3008 4515 5202 2296
143646 326744 469560 554013 236488
634 503 883 619 849
x876 x283 x772 x381 x318
3804 1509 1766 " 619 6792
4438 4024 6181 4952 849
5072 1006 6181 1857 2547
555384 142349 681676 235839 269982
205 656 948 628 825
x726 x270 x857 x414 x956
1230 0 6636 2512 4950
410 4592 4740 628 4125
1435 1312 7584 2512 7425
148830 177120 812436 259992 788700
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